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3/3 sdoMsll Gupiio 189 Gnpiio | wlegazall aniai 1Q

Choose the set that represents a finite set.  .digiis dcgaaa Jia Al dS gaaal) i)




acgozoll (89 yoliall sac sl :Q.2: P1

3/3 :doMsll

Find the cardinal number of the set {2, 4,6}. {2,4, 6} dsganall (i) atal) 224
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Lpsadnig WMdaiuwwell Loles (sle Wyeil :Q.3: P1

3/3 :dolell
Sami makes the rectangular JSA) Jubata b} el piian
frame shown. If m2CBA = 20°. .ms£CBA = 20° <13
Find the measure of ~CBD. .2CBD (ubd 1
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Lpiakig €MVl wljlgio Ulgss €Ml yoles csle w8yl 1Q.4: P1

3/3 :dol=ll
Suzan is making cookies using a ds a3 aladiul deS Jary (g agll
cookie cutter in the shape of a .&)L...'ai Silgia J& Ao dag

parallelogram. Find the measure of DC. DC _uld a4




|azswl P 9 a1l LlgyJl wlwld =) :Q.5: P1
3/3 sdollsll olaxiwly glao 58 &, Aol ©lwld egoxo sl :Q.5

Given that the sum of the measures  4.alall Lig3ll clulé §5aa ol cule )
of the interior angles of the regular e gall aliiial) E)L‘a‘ﬂ‘l ladd) Jalt
pentagon shown is 540°, find the Adi)a dugly JS (ki 2agl (540° gl

measure of each interior angle.




3/3 :dolM=ll Aopiioll ghsll ywld :Q.6: P1

Find the length of AB. AB Jsh 1l

o

w

v

o

=
I-;,-----ﬂ




3/3 sdollsll Lpliinig Whgiolly wlowsinuoally bladl yaxs :Q.7: P1

What is another name for line AC. . AC P Al sl 83
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Choose the best description for the bl L) Jahdal Ladl) Chagl) a)

scatter plot of the data.
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5/5 sl aalizo 9yb &M wlegoxoll &S :Q.9: P2

Designate the set S with natural ic gana pai ) S AS ganall as
numbers greater than 7. 7 e eSS daadal) 2)ac )

{x|x e Ns;x=7}
{x|]x € Nand x = 7}
{x|]x e Nsx< 7}
{x|]x € Nand x < 7}

{x|]x e Ns;x<7}
{x|]x € Nand x < 7}

{x|]x e Ns;x>7}
{x|]x € Nand x > 7}
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5/5 :dolMsll

Find the mode of the data set.

ladly 55,00l Guwlao sl :Q.10: P2

Gl A8 ganal Jlgial) 2agl
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Find x X dagl
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5/5 :dolsl 0idlSi0 ol Gisglanio Vliegozo lS 15] Lo i 1Q

Choose the equivalent pair of sets. (AL Cile ganal) zg) A8
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5/5 siotal e Mol Sslgio wsel,l JSiidl UsSy Ol oauai wsill gl :Q.13: P2

Find the values of x so that the top Cra Blaaall (85 Guan X dad dag

of the eraser is a parallelogram. E)\.m'f Silgia uk‘-i




0/5 sdollal
Ahmad surveyed students at his
school about the type of electronic
devices they own. Find the relative
frequency by row of the students

who have iPad and laptop.

iPad NoiPad  Total
Laptop 30 10 40
Nolaptop 20 40 60
Total 50 50 100

lp> g &L Jgla L] :Q.14: P2
g8 (5 4iuyta B Ol ledlaiu) teaf (g
DUl LgShias Y dig ASY) Bjgal)
Chal) @bl Aswdlls i) )il da
Japtop j iPad (sl (udll DUl

Gl OsSbe ¥ oy
o Pad e}
‘3’“" 30 10 40
m o 40 60
il 50 50 100




lpaulnig ad,9)l 6,5Uall JSiv yolgs sle B2l :Q.15: P2

5/5 :dol=ll
If KLMN is a kite, find m«N. J<& oo Blue KLMN (\S )
M2LN 2ald (A3, 5yl
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5/5 :dolsll Qoubiaun dehsl waiioll dasi slx] :Q.16: P2

Find the coordinates of M, Chaiie AbE A9« M i) g
the midpoint of ST, if S(6,8) CuilS 13) ST dasicuall daladl)
and T(2,0). .T(2,0) 55(6,8)

o M(4,4)




I Ly 8 ymindl @i yoly> csde w8yl :Q.17: P2

In the figure, UR is the midsegment Bl laie £ Ble 2 UR JSi) 8

of trapezoid PQST. Find UR. UR 23l .PQST <iyaid) 4
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Ugilall plaziwl uikss o @dlusll sl :Q.18: P2

5/5 :dolsll
Find the distance between the two points J&) A ol ddlaal) 2
in the figure below. Lol
by
= 0 O lx-




3/3 :dol=ll

Refer to the scatter plot of the number
of books donated over the years.

Use the line of best fit to make

a conjecture about the number of
books donated in the second year.
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Use the number line to find HK. HEK 2y 3ae¥) b aads)
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